РЕШЕНИЕ КВАДРАТНЫХ УРАВНЕНИЙ (Практикум №5)

Ученика  8 «А»  класса………………………………………………………..

	
	Уравнение
	проверяющий
	дата
	оценка
	подпись

	1
	Х2-4Х+3=0
	
	
	
	

	2
	Х2-5Х+4=0
	
	
	
	

	3
	3Х2-13Х+4=0
	
	
	
	

	4
	2Х2-9Х-5=0
	
	
	
	

	5
	9Х2-12Х+4=0
	
	
	
	

	6
	49Х2-28Х+3=0
	
	
	
	

	7
	4Х2-Х+1=0
	
	
	
	

	8
	6х(2х+1)=5х+7
	
	
	
	

	9
	2х(х-8)= -18х-1
	
	
	
	

	10
	8х(1+2х)= - 1
	
	
	
	

	11
	х(х – 5)=1-4х
	
	
	
	

	12
	2х2 + 5х +2= 0
	
	
	
	

	13
	5х2 + 2х +6= 0
	
	
	
	

	14
	36х2 - 60х +25 = 0
	
	
	
	

	15
	42х2 + 5х - 2= 0
	
	
	
	

	16
	4х(х-1) + х(х+2) = 3(2х-1)
	
	
	
	

	17
	3х2-12=0; 2х2+6х= 0
	
	
	
	

	18
	7х2-14=0; 10х+2х2=0
	
	
	
	

	19
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	21
	(х-2)2=3х-8
	
	
	
	

	22
	(х-2)(х+2)=7х-14
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	(х-2)2=3х-8
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	(х-2)(х+2)=7х-14
	
	
	
	


РЕШЕНИЕ КВАДРАТНЫХ УРАВНЕНИЙ (Практикум №5)

Ученика  8 «в»  класса………………………………………………………..

	
	Уравнение
	проверяющий
	дата
	оценка
	подпись

	1
	Х2-4Х+3=0
	Аваков
	
	
	

	2
	Х2-5Х+4=0
	Бобкова
	
	
	

	3
	3Х2-13Х+4=0
	Бабкин
	
	
	

	4
	2Х2-9Х-5=0
	Власенко
	
	
	

	5
	9Х2-12Х+4=0
	Власова
	
	
	

	6
	49Х2-28Х+3=0
	Ерохова
	
	
	

	7
	4Х2-Х+1=0
	Галкина
	
	
	

	8
	6х(2х+1)=5х+7
	Жемерова
	
	
	

	9
	2х(х-8)= -18х-1
	Закарая
	
	
	

	10
	8х(1+2х)= - 1
	Сахарова
	
	
	

	11
	х(х – 5)=1-4х
	Зилин
	
	
	

	12
	2х2 + 5х +2= 0
	Иванив
	
	
	

	13
	5х2 + 2х +6= 0
	Кирьянова
	
	
	

	14
	36х2 - 60х +25 = 0
	Комолова
	
	
	

	15
	42х2 + 5х - 2= 0
	Корнаков
	
	
	

	16
	4х(х-1) + х(х+2) = 3(2х-1)
	Корнеев
	
	
	

	17
	3х2-12=0; 2х2+6х= 0
	Костянов
	
	
	

	18
	7х2-14=0; 10х+2х2=0
	Куров
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	Новикова
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	(х-2)2=3х-8
	Поповская
	
	
	

	22
	(х-2)(х+2)=7х-14
	Сотников
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	Захаров
	
	
	


РЕШЕНИЕ КВАДРАТНЫХ УРАВНЕНИЙ (Практикум №5)

Ученика  8 «в»  класса………………………………………………………..

	
	Уравнение
	проверяющий
	дата
	оценка
	подпись

	1
	Х2-4Х+3=0
	Аваков
	
	
	

	2
	Х2-5Х+4=0
	Бобкова
	
	
	

	3
	3Х2-13Х+4=0
	Бабкин
	
	
	

	4
	2Х2-9Х-5=0
	Власенко
	
	
	

	5
	9Х2-12Х+4=0
	Власова
	
	
	

	6
	49Х2-28Х+3=0
	Ерохова
	
	
	

	7
	4Х2-Х+1=0
	Галкина
	
	
	

	8
	6х(2х+1)=5х+7
	Жемерова
	
	
	

	9
	2х(х-8)= -18х-1
	Закарая
	
	
	

	10
	8х(1+2х)= - 1
	Сахарова
	
	
	

	11
	х(х – 5)=1-4х
	Зилин
	
	
	

	12
	2х2 + 5х +2= 0
	Иванив
	
	
	

	13
	5х2 + 2х +6= 0
	Кирьянова
	
	
	

	14
	36х2 - 60х +25 = 0
	Комолова
	
	
	

	15
	42х2 + 5х - 2= 0
	Корнаков
	
	
	

	16
	4х(х-1) + х(х+2) = 3(2х-1)
	Корнеев
	
	
	

	17
	3х2-12=0; 2х2+6х= 0
	Костянов
	
	
	

	18
	7х2-14=0; 10х+2х2=0
	Куров
	
	
	

	19
	
[image: image14.wmf]4

2

х

-
[image: image15.wmf]3

4

+

х

 +1=0
	Нарижная
	
	
	

	20
	
[image: image16.wmf]2

1

2

-

х

- 
[image: image17.wmf]4

1

+

х

- 3=0
	Новикова
	
	
	

	21
	(х-2)2=3х-8
	Поповская
	
	
	

	22
	(х-2)(х+2)=7х-14
	Сотников
	
	
	

	23
	Х2 - 4
[image: image18.wmf]2

х-10=0
	Захаров
	
	
	


_1290865069.unknown

_1290865169.unknown

_1290865706.unknown

_1290865123.unknown

_1290865031.unknown

